FEoEH —
MEREHEE 2=
(EREZE]
BERSL E  (MNBEER FEEE 3 X)
BERERER A 9,662
FRTHK B 123 2
BeEH C(=A+B) 9,785 ”
¥
BIRD-ZF0fh D 9 5
BEHEE C+D 9.787 &
& & RBRE RAE AHRDS &t
BHUEBEKRA AlEdSH | mELEL | muzmne | O+Q+Q
= = LEmH @) SEH Q) snhr-#EH% 6| A(AMIRER)
1 EE BA 974 8,688 0 9,662
2 Bl EEF 922 8,740 0 9,662
3 SIE E=E 1,019 8,643 0 9,662
4 ER OIEFE 881 8,781 0 9,662
5 A3k NiE 871 8,791 0 9,662
6 == S [} 853 8,808 1 9,662
7
8
9
Fle B W] (JRS3Hs AT WIE(E ) 23 g 24 45

KBEBER~ORER ., BB ~DARITAZFIZEY, DOAMRUCIVITHIZL,




